IB Maih 2: Even More Practice for DiffereutiaI.Equ.ation
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1. Find a general solution to the differential equation; (9 +9x )% =0.75.
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2. Solve g;=10xy given that y(1) =1.
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4. Water flows from a hole in the base of a cylindrical can at 4 rate given by %i:— = —k~/h where k>0 and his

the depth the of water in the vessel at time t. If the level of water in the can falls from 100 em to 25 cm in two

Imnutcs how much longer will it take for the can to empty?
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5. Solve the differential equation %_231n2t~4cos2t if —E;(O) 2 and x(0) =1 "—-—"""""
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